A £ 0l & AF & S

Al A

A= HEtHADSS A HEFHAS A D
M CINEHMoITetR=(DED&/0E) =)

&t DXNEFEMSELXR (SH &)
A2 RA BB O9I(SH) - A - BES ofl &t JERY HIDS2
HIEHH A HSE= 76,173,044 69,507,207 6,665,837

= 5,651,407 2,876,407 2,775,000
Xl 4,420,000 4,402,000 18,000
= 66, 101,637 62,228,800 3,872,837
HIEFH AS ALt 4,673,873 3,808,373 865,500
Xl 480,000 480,000 0
== 4,193,873 3,328,373 865,500
CINEHMoI Tt R (DHED|=/UED =8t 740,449 570,449 170,000
CIXEEHSHLXE 740,449 570,449 170,000
AACIRE M EFE S XU X ZAIS (RIHRE XIA) 270,000 200,000 70,000
308 AHXIHMSO0IA 270,000 200,000 70,000
01 XN EES 270,000 200,000 70,000
CIHACIN E S 2 A X 2 AE X AS
23 270,000,000 270,000 200,000 70,000
20248 EOLAIOtoi H E THRI K= 80,000 0 80,000
307 212t01d 80,000 0 80,000
04 QIZHHAIAIH 2 £ 80,000 0 80,000
(12024 & OtAI Ot H ECH 21 1= 80,000 0 80,000
SREA=RAAS 20,000 0 20,000
202 04l 20,000 0 20,000
04 =Xl =todtl 20,000 0 20,000
LHEIHH A SSIH S =E =2 0] 20,000 0 20,000
HEtZSoITet = (1ED|=/UE 0| =2 et) 1,385,820 1,190,320 195,500
Xl 480,000 480,000 0
< 905,820 710,320 195,500
HEtE=Ss8<L X 1,385,820 1,190,320 195,500
Xl 480,000 480,000 0
= 905,820 710,320 195,500
AOIEEL N ESHEAXIR 600,000 600,000 0
Xl 480,000 480,000 0
& 120,000 120,000 0
308 KXIEHMSOIS 0 600,000 600,000
Xl 0 480,000 480,000
S 0 120,000 120,000
183 S 2SS & AST AL 0 600,000 600,000
CHEHH A0l E S+ XA (XISZHI)(
) (2I|1HA)(U=HAH) 0 300,000 300,000
Xl 240,000 240,000
< 60,000 260,000
OZSEHEMHAAHAIARREXA (XS
SH)(HH2)(U=EH) 300,000 300,000
Xl 240,000 240,000
S 60,000 260,000




a3 HEHA LSS A HEHAS A D
A MEHESQEetRS(ED|=/ns) =2t
ol DIt =SsdYXE (SH9 H2)
A= 2N - BB S9(S) - HISAY - BES il v ol H o CImE==
403 X SHHMSAH=01H 600,000 0 600,000
X 480,000 0 430,000
& 120,000 0 120,000
02 SISOt =22 P E A I 600,000 0 600,000
CIHEHHAOEIOIZEIDICIHERE(KNEE
HD(RI183) (Uh=HY) 300,000 0 300,000
N 240,000 0 240,000
< 60,000 0 60,000
OZSEHEHAMHAIABASXR(XE
SHD(U=sHE) 300,000 0 300,000
N 240,000 0 240,000
< 60,000 0 60,000
OlEHH A MERH = 50,000 0 50,000
207 ARl 50,000 0 50,000
01 = 50,000 0 50,000
UZSAMHIEOIROI S A A2 = HATRES 50,000 0 50,000
CINE SN Z R AS (MR ERIR) 145,500 0 145,500
402 RIZHAHZ01H 145,500 0 145,500
02 QIINEASEZ(0IETHE) 145,500 0 145,500
LCIXNE2MoHZ X &AL 145,500 0 145,500
HEtZZHMEQIZ AR (WS |=/Us D=L 2,444,320 1,944,320 500,000
HEIZZRESHI R 2,444,320 1,944,320 500,000
SS0EHASSM=MLR2E 500,000 0 500,000
308 XXM SOIA 500,000 0 500,000
13 SI[2SOHE B & EAS A 500,000 0 500,000
URZEHXESMENLHAS 2R 500,000 0 500,000




H & 0l & AHS B Ml A

0243 =& 1 3 LESIH &l

== =3 EER-E)
A2 24 - 3H - () - HRAY - BES Ol AreH J| 3 o Hns2
ESIEN) 25,017,967 24,901,967 116,000
SO TR (B /05| =YL 24,933,059 24,822,059 116,000
AASHUXIA 9,198,559 9,127,559 71,000
TOHLXI KSR AL (IR F R R) 300,000 250,000 50,000
308 XX SHHISOIA 300,000 250,000 50,000
13 B 2SO EHE A & S| EFAFIH 300,000 250,000 50,000
OXIS) | ZH RS SIAIS X
23 300,000,000 300,000 250,000 50,000
ADIEZEZ SN (2IIEEXH) 750,000 600,000 150,000
308 XX SHHISOI& 750,000 600,000 150,000
01 IXSHHBAEES 750,000 0 750,000
OADIERR B S XA (2B A) 750,000 0 750,000
13 SO ZHSOICHBHE A X 2| AL 0 600,000 AB00,000
OADIEZ RS S XA (MK (U2 Y
) 0 600,000 600,000
AFACHEXICHOH X (RED) (B OHEE XI L) 539,000 513,000 26,000
403 XHXI SHRISKH20| ™ 397,000 371,000 26,000
01 XX SHIX 22X 397,000 371,000 26,000
EEESE N I ESSE= LIPS 26,000 0 26,000
SR XKL AIS (IR E R ) 190,000 180,000 10,000
403 IR SHRISKH=20I ™ 190,000 180,000 10,000
01 IXISRIX =22 190,000 180,000 10,000
DA 10,000 0 10,000
SUOIMEIA M KA I SN (2T R L) 208,334 333,334 A 125,000
307 212t0| ™ 208,334 333,334 A 125,000
02 DIZHHAAIA B X 208,334 333,334 A125,000
OISO A RFAI B XHAN D | 2O e
2 208,334,000 208,334 333,334 A125,000
ADEOISERNSTHURRZHERS(IVIEEXL) 120,000 240,000 A 120,000
403 IR SHRISKH20I ™ 120,000 240,000 A 120,000
01 KX SHIX =X 120,000 240,000 A 120,000
OADIEOISSRUSTHRREHERSAL
o 23 120,000,0002! 120,000 240,000 A120,000
A MASSICH N ZAH2 Y 180,000 100,000 80,000
308 XX SHHISOI& 180,000 100,000 80,000
01 AXISHHBLEES 180,000 100,000 80,000
O20tE G AR S 51T R CH2 Y
2 180,000,000 180,000 100,000 80,000
Y| E2510tI EX A 1,005,000 960,000 45,000
W2 ESSHALRH 45,000 0 45,000
308 XX SHHISOIA 45,000 0 45,000
01 X SHHBAEZS 45,000 0 45,000
CIX| < et 2t 28 3K 2 ALY 45,000 0 45,000




H & 0l & AHS B Ml A

0243 F=Z 13 Luts|H A
HIEHH A DHSE= SA CARRAHE DI
AXpAI QI TRt (0S| =/ )| = El)
AT S EH AKX (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Aro ol E o timE=FT
=Pkl 26,914,439 22,260,837 4,653,602
= 4,362,000 2,587,000 1,775,000
X 158,000 140,000 18,000
< 22,3%,439 19,533,837 2,860,602
ARbAI A QI TRt (DD | =/ e | =gt 5,141,953 4,351,553 790,400
N 158,000 140,000 18,000
[ 4,983,953 4,211,553 772,400
AxArE S S 5,141,953 4,351,553 790,400
N 158,000 140,000 18,000
< 4,983,953 4,211,553 772,400
KNS & A2 AL (R E R R) 50,000 80,000 30,000
307 2IZto1 ™ 50,000 80,000 30,000
02 BN HEE 50,000 80,000 30,000
OX NS 2SS LAY
Z& 50,000,000 50,000 80,000 £30,000
X HWAM A B SR & (2T XIH) 143,000 0 143,000
308 XHXIEMSOIE 143,000 0 143,000
01 HXHH B E2ES 143,000 0 143,000
OXISACIANEIN S EER2 143,000 0 143,000
NSEZHAAH2.0(2IHEEXH) 406,900 436,500 129,600
308 AtAIEMSOIE 406,900 436,500 229,600
01 AXHHNBHEES 406,900 436,500 A29,600
OWs& 24 AH2.0 Z3 406,900,000& 406,900 436,500 129,600
PNSEN Fgoa PSP ONEC! 237,000 210,000 27,000
X 158,000 140,000 18,000
< 79,000 70,000 9,000
308 XtXIEMSO0IE 237,000 210,000 27,000
Xl 158,000 140,000 18,000
< 79,000 70,000 9,000
01 HXEHH B EES 237,000 210,000 27,000
ORI AWA L ESH X B (ASSY)
&3 237,000,000& 237,000 210,000 27,000
N 158,000 140,000 18,000
< 79,000 70,000 9,000
AMEEN A AL CIXNE M SIS F ALY 660,000 0 660,000
308 XtXIEME0IH 660,000 0 660,000
01 XN EES 660,000 0 660,000
OADGEMZSEAMUCIXNE XSS 660,000 0 660,000
CINER:II1SH e ==t 20,000 0 20,000
201 er23 | 20,000 0 20,000
01 At2teltl 20,000 0 20,000
OCNERaI1g8 8| =24t 20,000 0 20,000
ICTESE AP I Z ot (ED| &/ = Yt 18,186,602 16,552,400 1,634,202




A= HEHHALEH=R SA T ARARED|EHD
HI: |CTSEAHITIRE (US| =/UE 0| =Ygt
S ICTESEAIASHYRR (CH9: /M)
4l LA -8 SA(3) - AIRAY - BES (1;| Palgely I & A Hlns
= 4,187,000 2,587,000 1,600,000
(= 13,999,602 13,965,400 34,202
ICTES SIS LR 18,186,602 16,552,400 1,634,202
=2 4,187,000 2,587,000 1,600,000
(= 13,999,602 13,965,400 34,202
FAHNSSERSEAALEL (2IEERH) 1,097,800 1,007,800 90,000
308 RIXISHHISOIE 413,800 334,000 79,800
01 RXSHBAEES 343,800 264,000 79,800
OADIEDRIERANNS S
2 343,800,000 343,800 264,000 79,800
403 XIS SKH=0|™ 684,000 673,800 10,200
01 AXISH =22 684,000 673,800 10,200
ORIIAIANAREEHARUR ST
3 684,000,000 684,000 673,800 10,200
NEEXSEITSF2ZASII|LRE(2IEET) 1,010,452 1,164,000 ~153,548
403 MR SHHSXH=01 ™ 1,010,452 1,164,000 ~153,548
01 XIXISHHIX = B X 1,010,452 1,164,000 A 153,548
OMEE XSS oT2FR3a4E|82=E
a3 1,010,452,000& 1,010,452 1,164,000 A 153,548
DN B ISR SOIAE (LFP)HHEI 2| AR B | B R = (=2 313,000 664,000 A351,000
IIEERH)
403 XIS SKH=0|™ 313,000 664,000 A351,000
01 RIXISHHIR2E X 313,000 664,000 351,000
ODND S SOIAE (LFP)HHE 2l Ar= 5}
J|gtRs 23 313,000,000 313,000 664,000 351,000
NS AHIIEZ2ME (2 FHXH) 83,250 114,500 131,250
308 XIXISHHISOIE 83,250 114,500 A31,250
01 RXSHHBAEES 83,250 114,500 A31,250
OXSSEANIIZ2HE (0| XX ARINEL)
A 83,250,000 83,250 114,500 A31,250
CXNESRAUSHIZY 2,080,000 0 2,080,000
= 1,600,000 0 1,600,000
[ 480,000 0 480,000
403 XIS SKH=0|™ 2,080,000 0 2,080,000
= 1,600,000 0 1,600,000
(= 480,000 0 480,000
01 XIXISHHIX =B X 2,080,000 0 2,080,000
OCINESRASHI XY 2,080,000 0 2,080,000
=2 1,600,000 0 1,600,000
(= 480,000 0 480,000
SA0ICIH A QI T2t R = (08| =/ 08t )| = bt 3,518,000 1,289,000 2,229,000
= 175,000 0 175,000
(= 3,343,000 1,289,000 2,054,000
SA0ICIHAIEES LR 3,518,000 1,289,000 2,229,000




: SA0ICIN
A

D SO0 ESEH RS (SH9 H2)
A B SR(B) - NRAY - By S O] a0 ol & o blnE2
= 175,000 0 175,000
< 3,343,000 1,289,000 2,054,000
EZHUDIS ST /BARMAIZHL A (O EX 100,500 69,000 31,500
&)
308 AXIMSOIA 100,500 69,000 31,500
01 XN BSELES 100,500 69,000 31,500
208D erE2 SR IAIAEI A AL
StAS d& 33,000,000 33,000 24,000 9,000
U208 TAMAS
3& 67,500,000 67,500 45,000 22,500
SZAUMEIHAS ER=2S (FOREXY) 420,000 450,000 A30,000
308 XXM SOIA 420,000 450,000 A30,000
01 HXSHH B E2ES 420,000 450,000 30,000
OxZ9ANEIHATERERY
33 420,000,000& 420,000 450,000 30,000
WCEASEHAI22H 500,000 0 500,000
308 XXM SOIA 500,000 0 500,000
13 SI[2SOHE & EAS A 500,000 0 500,000
LWC2025Z &S =M Al 22 S 500,000 0 500,000
SSEAIVDIMHSIXNJFEH = 227,500 0 227,500
= 175,000 0 175,000
< 52,500 0 52,500
403 TR SHMSAH=01H 227,500 0 227,500
= 175,000 0 175,000
< 52,500 0 52,500
01 AXISHHA 22 £ 227,500 0 227,500
OSSP XAME 2= 227,500 0 227,500
= 175,000 0 175,000
[ 52,500 0 52,500
A ZCHRERASLAIBMEA TS (AR 1,200,000 0 1,200,000
)
308 XXM SOIA 1,200,000 0 1,200,000
01 AXEN B EES 1,200,000 0 1,200,000
O=AUAI SR EEASHAIS S E Y 1,200,000 0 1,200,000
HESAIEEDIB 2 (2O EXIH) 300,000 0 300,000
308 XXM SO0l 300,000 0 300,000
01 XN B2 LS 300,000 0 300,000
OMZAIsSE B2 d 300,000 0 300,000




A £ 0 & A

0243 =& 1 3 LESIH &l

A= HEHADNSI= SA 0 20N
M OB A EHSH LIS I /UBHEHH)
el XNGSHASSH ML - M

g2 8 A A

A= 2N - BB S9(S) - HISAY - BES il v ol H o DS
SICIOIE 2t 3,557,830 3,568,830 A11,000
CIOIEDD Bt E S oH (LB SIS E/LBrAT) 3,504,358 3,515,358 ~11,000
KNASHSSHIMA - MB 1,216,258 1,216,258 0
SHES 2L NS SH ML 171,241 171,241 0
201 ZeH22 ] 164,275 164,275 0
01 ArR2eltl 162,000 152,000 10,000
IEERElg= et 10,000 0 10,000
OXSGEHNLHLRERS S(U=SHY) 10,000 0 10,000
03 A2 I 0 10,000 /10,000
OXNSEHNLHARERS(HHY)(UH=HE
) 0 10,000 A 10,000
SICIOIEH AL =& 2,288,100 2,299,100 211,000
SIOI0IEDIg = 2,171,100 2,182,100 A 11,000
207 AR 1,210,000 1,230,000 220,000
01 H2EH| 110,000 130,000 /20,000
mENETEEEEE=
23 110,000,000& 110,000 80,000 30,000
OIS SE LRI 2H &2 (M A
Z) 0 50,000 /50,000
308 XXIHMSOIA 649,000 640,000 9,000
183 S 2SOtEtE 4 EAS ALS | 649,000 640,000 9,000
Ot =M el0lsX2el 9,000 0 9,000




H & 0l & AHS B Ml A

= HEtHADSE= A FESA
¥ ADIEZSTE(LSS3T/LBAT)
chel: 2SIty EER=E)
224 - BB O9(B) - HISAY - BAS 0fl 04 o) DS
J2SA 16,008,935 14,967,200 1,041,735
= 1,289,407 289,407 1,000,000
X 3,782,000 3,782,000 0
< 10,937,528 10,89%,793 41,735
AQESZ ST (LS 3T/ LBHHT) 10,532,802 10,507,858 24,944
= 289,407 289,407 0
[ 10,243,3% 10,218,451 24,944
B3| xS 662,941 647,191 15,750
SHESULDTSAS (SIHEEXR) 288,750 273,000 15,750
402 RIZERHZ01H 288,750 273,000 15,750
01 RIEN S A E X (XM THR) 288,750 273,000 15,750
OsHESAUZDTS ALY
3& 288,750,000 288,750 273,000 15,750
FSPAPNIE RSE =] 7,142,673 7,112,673 30,000
JEsSuY=d 3,709,800 3,679,800 30,000
401 Al&BIL LY 120,000 90,000 30,000
01 Al£ZHI 120,000 90,000 30,000
O HIANHE XIS Z& 90,000,000 90,000 60,000 30,000
HE A~ 1,212,988 1,233,794 120,806
= 289,407 289,407 0
< 923,581 944,387 »20,806
23029 e 120,000 123,000 23,000
308 XXM SOIA 63,000 66,000 23,000
01 HXHHBLEES 63,000 66,000 23,000
IESht=iinl == gnkol AL
3% 37,000,000 37,000 40,000 23,000
FLsiotsnz g isy 213,686 231,492 A17,806
308 XXM SOIA 213,686 231,492 A17,806
01 XN BELES 213,686 231,492 A17,806
OFBs0lszzgae ey
23 213,686,000& 213,686 231,492 A17,806
CIXgd22st (2R EXH) 91,700 91,700 0
201 er2 3| 91,700 0 91,700
01 AtR2t2l] 91,700 0 91,700
eS| 91,700 0 91,700
OtXgdadstng(=2HA) 91,700 0 91,700
307 2Ito1H 0 91,700 A91,700
02 LB HAHE L 0 91,700 A91,700
OO gAedsns(MH2)(U=s8F) 0 91,700 A91,700
ADIEAEIQI ZRtRE(DED| /a0 | =) 5,361,392 4,349,392 1,012,000
= 1,000,000 0 1,000,000
N 3,782,000 3,782,000 0
[ 579,392 567,392 12,000




o OIEtHADSE=
t ADIEAIEIQI ZRt R (E D=/t
D ADEAIEISE2XIA

AT 2A B BR(E) - HRAY - BES 0 &t ol & o blnE2

ADIEANEISEZXE 5,361,392 4,349,392 1,012,000

= 1,000,000 0 1,000,000

Xl 3,782,000 3,782,000 0

& 579,392 567,392 12,000

ADIEZ AN MHIA RS 1,300,000 288,000 1,012,000

= 1,000,000 0 1,000,000

= 300,000 288,000 12,000

403 XX SHHSK=01A 1,300,000 288,000 1,012,000

= 1,000,000 0 1,000,000

= 300,000 288,000 12,000

01 XIXISH =2 X 1,300,000 288,000 1,012,000
OAES AN MHIARS

Z& 1,300,000,000& 1,300,000 283,000 1,012,000

= 1,000,000 0 1,000,000

T 300,000 283,000 12,000

NeesS(HESAN) (LSS /UBE) 4,791 0 4,791

SEXE 4,791 0 4,791

BrEt=D|E 4,791 0 4,791

802 Btz D|E 4,791 0 4,791

01 2NEXFEEZ 4,791 0 4,791

O AT AADIEAEIZSEAIS (224) 4,791 0 4,791




